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FOREWORD

The National Examinations Council of Tanzania is pleased to issue the Advanced
Certificate of Secondary Education Examinations (ACSEE) 2016 items response
analysis report in Economics subject. The analysis provides feedback to students,
teachers, parents, policy makers and the public in general on the performance of the
candidates.

The Advanced Certificate of Secondary Education Examination marks the end of two
years of Advanced Secondary Education. It is a summative evaluation which among
other things shows the effectiveness of the education system in general and education
delivery system in particular. Essentially, the candidates’ responses to the examination
questions is a strong indicator of what the education system was able or unable to offer
to the students in their two years of Advanced Secondary Education.

The analysis presented in this report intends to contribute towards the understanding of
possible reasons behind the candidates’ responses in Economics Subject. The report
highlights some of the factors that made the candidates to score high marks in the
questions. Such factors include ability to; adhere to the demand of the questions,
identify task of the questions, express themselves in the English language and the
acquisition of knowledge of the concepts related to the subject. On the other hand, the
report highlights factors which made few of the candidates to score low marks in the
examinations. Such factors include; failure to adhere to the demand of the questions,
failure to identify the task of the questions and lack of knowledge of the concepts
related to the subject. The feedback provided will enable the educational
administrators, school managers, teachers and students to identify proper measures to
be taken in order to improve the candidates’ performance in future examinations
administered by the Council.

The National Examinations Council of Tanzania will highly appreciate comments and
suggestions from teachers, students and the public in general that can be used for
improving future items response analysis reports in Economics Subject.

Finally, the Council would like to thank the examination officers and all who
participated in analyzing the data used in the analysis.

Y

Dr Charles E Msonde
EXECUTIVE SECRETARY

iv



1.0 INTRODUCTION
This report on the performance of the candidates in Advanced Certificate of
Secondary Education Examination, 2016, in Economics subject is based on the
analysis of individual questions per topic.

The examination comprised of two papers; Economics 1 (Economic Theory) and
Economics 2 (Economic Development). Paper 1 consisted of eight (8) questions
which were divided into sections A and B of which the candidates were required
to answer five (5) questions, choosing at least two questions from each section.
Paper 2 had ten (10) questions. The candidates were required to attempt five
questions, choosing at least two (2) questions from each section. Each question in
paper 1 and paper 2 carried 20 marks.

A total of 11,826 candidates sat for the ACSEE 151 Economics paper out of
which 11,505 candidates (98.00%) passed this examination while 235 candidates
(2%) failed. Generally, the candidates’ performance in this subject declined by 1.7
percent compared with that of 2015 in which out of 7,442 candidates who sat for
that examination, 7,418 candidates (99.70%) passed and 22 candidates (0.3)
failed.

This report provides the analysis of each question by briefly giving an overview of
what the candidates were required to do, the way they responded, the reasons for
their good/poor performance. In this analysis, a question/topic is graded as poorly
performed, averagely performed or good performed using the following pass rate:
0 — 34 percent (0 - 6.5 marks) weak, 35 — 59 percent (7 - 11.5 marks) average and
60 — 100 percent (12 - 20 marks) good. Special colours have been used to show
the candidates’ performance whereby green stands for good, yellow for average
and red for weak as seen in the graphs and in the Appendix. Some extracts of the
answers showing candidates responses have been included.



2.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION

2.1 PAPER 1:151/1 ECONOMIC THEORY

2.1.1 Question 1: Subject Matter of Economics

The question had two parts, (a) and (b). In part (a), the candidates were
required to outline four salient features of a mixed economy and give reason
why Tanzania can be sighted as an example of a mixed economy. In part (b),
the candidates were required to give five reasons of studying Economics.

The question was attempted by 80.3 percent of the candidates, out of which
42.3 percent scored from 12 to 20 marks, 42.9 percent scored from 7 to 11.5
marks, and 14.8 percent scored from 0 to 6.5 out of the 20 allotted marks.
Generally, the performance in this question was good. Figure 1 shows the
distribution of the candidates' scores.
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Figure 1: Candidates' Performance in Question 1

Candidates who performed well in this question were able to outline the salient

features of a mixed economy and give reason as to why Tanzania can be

sighted as an example of a mixed economy. For example, in part (a), most of

them outlined the salient features of mixed economy such as co-existence of
2



both public and private sectors and joint venture of some investments
(government and private sector). In part (b), the candidates were able to
provide correct responses demanded by giving reasons of studying economics
such as: provision of tools for economic policy analysis, helping the
government to check inflation and helping the trader to determine gains in
international trade. Moreover, they were able to defend each of them with
explanations as seen in Extracts 1.1.

Extract 1.1.
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Extract 1.1 is a response from the candidate who managed to outline the salient
features of a mixed economy and give reason as to why Tanzania can be sighted
as an example of a mixed economy in part (a). In part (b) the candidate
explained the reasons of studying economics.

Some candidates who performed averagely, answered one part of the question
correctly and the other part incorrectly and others answered inadequately in both
parts. In part (a) for example, one candidate outlined few salient features of
mixed economy like presence of private and public sectors, allocation of
resources is done by individuals and the government but failed to support the
points with valid explanation. In part (b), the candidate identified less than the
required reasons of studying economics like it help people to get jobs, it helps
people to know different things, it help people to solve their economic problems.



However, few of the candidates (14.8%) who performed poorly in this question
failed to provide correct responses. For instance in part (a), some of the
candidates misunderstood the question and outlined the characteristics of the
capitalist economy such as surplus of production, freedom of choice and
emergencies of classes which were incorrect. Majority of them were unable to
give a reason of why Tanzania can be sighted as an example of a mixed
economy for example one candidate ended up by writing Tanzania is likely to be
practicing it.

In part (b), most of the candidates failed to provide the required reasons for
studying economics. Some explained few reasons than the required while others
provided incorrect responses. For example one of the candidates responded on
the reasons showing why economics is regarded to be a science by providing
points such as: systematic study, scale of measurement, economic laws and
predictions instead of the reasons of studying economics. A sample of a poor
candidate’s response is shown in extract 1.2.



Extract 1.2
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Extract 1.2 presents a sample of one of the candidate’s poor responses. In part
(a) of the question he/she explained features of capitalist economy instead of the
salient features of mixed economy.

2.1.2 Question 2: Production
This question had three parts (a), (b) and (c). The candidates were required to:
(a) distinguish time rate system from piece rate system (b), provide four
advantages and four disadvantages of time rate system and (c) provide four
advantages and four disadvantages of piece rate system.

The question was attempted by 11.9 percent of the candidates out of which 43
percent scored from 12 to 18 marks, 41.1 percent scored from 7 to 11.5 marks,
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and 15.9 percent scored from 0 to 6.5 out of the 20 allotted marks. Generally,
the performance in this question was good. Figure 2 shows the distribution of
the candidates' scores.
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Figure 2: Candidates' Performance in Question 2.

The candidates who scored high marks were able to distinguish time rate
system of payment from piece rate system in part (a). Furthermore, they
provided the advantages of time rate system such as workers will not feel
overworked, easy to calculate wage payment, improvement of quality of output
and disadvantages such as: low output, require supervision for people and
discourages efficiency. In part (b) and (c) the candidates were able to provide
the advantages of piece rate such as enjoyment of economies of scale, high
productivity, easy to calculate the cost of each worker and disadvantages are
low quality of the product and cannot be measured quantitatively. Extract 2.1
shows a sample of one candidate who did well in this question.



Extract 2.1
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Extract 2.1 shows one of the good responses from a candidate who managed to
distinguish time rate system from piece rate system in part (a) and provided the
advantages and disadvantages of time rate system and piece rate system in part

(b) and (c) respectively. The candidate defended the points with valid
examples.
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Furthermore, the candidates who had average performance in this question had
partial knowledge of distinction between piece rate from time rate system of
wage. For example in part (a), some the candidates provided few points
compared to the required advantages and disadvantages of time rate and piece
rate system of wage. This depict that the candidates have little knowledge on
the subject matter.

However, the candidates who performed poorly in this question were able to
define the payment systems but the majority of them failed to provide the
advantages and disadvantages of payment systems which correspond to the
demand of the question in part (a). Others misinterpreted the concepts of piece
rate system and time rate system. For example, one candidate interchanged the
points which were suitable for time rate system in part (a) with those of piece
rate system in part (b) and (c). A sample of poor candidate’s response is shown
in the extract 2.2.
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Extract 2.2 shows one of the poor response from a candidate who was unable
to distinguish time rate system from piece rate system in part (a), and
interchanged the concept within the question. The candidate provided
advantages and disadvantages of time rate system to piece rate system and
advantages and disadvantages of piece rate system to time rate system in part
(b) and (c). This indicates that the candidate misinterpreted the concepts or did
not understand the instructions.
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2.1.3

Question 3: Theory of Money

The question had two parts (a) and (b). In part (a), the candidates were required
to explain four benefits of using money in the economy. In part (b) the
candidates were required to describe six necessary criteria for good money.

The question was attempted by 96.2 percent of the candidates out of which
85.7 percent scored from 12 to 20 marks, 12.2 percent scored from 7 to 11.5
marks, and 2.1 percent scored from 0 to 6.5 out of the 20 allotted marks.
Generally, the performance in this question was good. Figure 3 shows the
distribution of the candidates' scores.
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Percentage of Candidates
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Figure 3: Candidates' Performance in Question 3.

The candidates who scored high (12-20) marks in this question managed to
explain the benefit of using money in the economy. The candidates understood
the demand of the question and had a good mastery of the subject matter. For
example, in part (a), most of the candidates explained the benefits of using
money in the economy such as storage of value of goods, can transfer
economic resources and promotes division of labour. In part (b), they were able
to examine the criteria (qualities) for good money such as acceptability,
divisibility, durability, portability, scarcity and malleability. A sample of a
good response is shown in extract 3.1.
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Extract 3.1 shows one of the good response from a candidate who managed to

explain the benefits of using money in the economy in part (a), and describe the
necessary criteria for good money in part (b)
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The candidates who had average performance provided partial explanation on
the benefits of using money in the economy in part (a). For example, one
candidate explained the benefits of using money in the economy by writing that:
It satisfies your needs, Simplifies work, helps medical treatment. Moreover, in
part (b), the candidates described a few criteria for good money out of which
some descriptions were correct while other descriptions were incorrect. For
example, one candidate described only four uses of money and only two
acceptability and scarcity were correct while the other two indivisibility and
instability were incorrect.

On the other hand, few candidates (2.1%) who attempted this question
performed poorly as they failed to explain the benefits of using money. In part
(a), for example some of the candidates explained the demand for money instead
of benefits of using money in the economy thus provided points like:
Speculative motive, Transaction motive, and Precautionary motive. In part (b),
the candidates failed to describe the necessary criteria for good money, for
example, some of the candidates wrongly identified the criteria of good money
but they failed to give correct explanations. Extract 3.2 shows the sample of the
candidates who responded poorly in part (a) and (b).
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Extract 3.2
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Extract 3.2 shows one of the poor responses from a candidate who explained the
points of demand for money instead of the benefits of using money in part (a),
and described the necessary criteria for good money by providing the points
such as Economy, Flexibility, Convenience which are not correct in part (b).

2.1.4 Question 4: Theory of the Firm

The question had four parts, part a, b, ¢, and d. The candidates were supposed
to use the information given in the table to: (a) Identify the market structure in
which the firm was producing, (b) Calculate extra revenue of the firm. (c)
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Calculate the firm’s fixed costs and extra costs at all levels of output and (d)
Calculate firm’s profit.

The question was attempted by 31.3 percent of the candidates, out of which
73.3 percent scored from 12 to 20 marks, 14.4 percent scored from 7 to 11.5
and 12.3 percent scored from 0 to 6.5 out of the 20 allotted marks. Generally,
the performance in this question was good. Figure 4 shows the distribution of
the candidates' scores.
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Figure 4: Candidates' Performance in Question 4.

Most of the candidates (73.3%) who attempted this question had good
performance, as shown in figure 4. The candidates were familiar with
mathematical calculation skills which are used in economics concepts, enough
knowledge and skills concerning the topic. They were able to use correct
formulas to interpret the concepts. For example in part (a), most of the
candidates managed to identify perfect market structure as the type of a market
in which the firm was producing. Furthermore in part (b), the candidates were
able to use appropriate formula to calculate extra revenue by using the formula
ATotal revenue A Total cost

Extra revenue = and Extra cost=
Aoutput A Output

In part (c), majority of the candidates managed to calculate fixed and extra
costs at all levels of output and in part (d), the candidates calculated firm’s
profit correctly. For example one of the candidates used the formula 7 =Total
Revenue-Total Cost to obtain profit of the firm. Extract 4.1 shows a sample of
the good response in this question.
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Extract 4.1
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Extract 4.1 shows one of the good responses from a candidate who was able to
use mathematical calculation to show Extra Revenue, Extra cost and Profit of

the firm.

The candidates who scored from 7 to 11.5 marks were able to answer only some
parts of the question. For example, one candidate was able to identify only the
market structure in part (a) and extra cost in part (c), but was unable to calculate;
extra revenue in part (b), fixed cost in part (c) and profit of the firm in part (d).

On the

other hand, the candidates who did not perform well in this question

failed to use the data provided in answering the question. In part (a), the
candidates failed to identify the market structure in which the firm was
operating. For example, one candidate identified the market structure as the firm
which produce at imperfect market structure while in the other three parts (b),
(c) and (d) this candidate failed to calculate extra revenue, extra cost and firm’s
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profit

respectively. Extract 4.2 shows a sample of a candidate who failed to use

calculation in answering question.

Extract 4.2
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Extract 4.2 shows one of the poor response from a candidate who identified as
the imperfect market structure instead of perfect competition and in parts (b, ¢
and d) the candidate failed to calculate extra revenue, total fixed cost and profit of
the firm. For example he/she wrote the firm has no extra revenue. This shows that
the candidate lacked mathematical skills to use proper formula.
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2.1.5 Question 5: Privatization

This question had two parts (a) and (b). In part (a) the candidates were required
to explain five forms of privatization while in part (b), the candidates were
required to examine five successes of privatization policy in Tanzania.

The question was attempted by 55.8 percent of the candidates, out of which
59.6 percent scored from 12 to 20 marks, 30.3 percent scored from 7 to 11.5
marks, and 10.1 percent scored from O to 6.5 out of the 20 allotted marks.
Generally, the performance in this question was good. Figure 5 shows the
distribution of the candidates' scores.
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Figure 5: Candidates' Performance in Question 5.

The candidates with good performance were able to explain forms of
privatization by providing responses which show knowledge of the subject
matter and were able to apply the economics concept (privatization) taught in
the class in the existing situation in the country. They provided forms of
privatization such as liberalization or deregulation, divestiture, partial,
repossession or decentralization and cost sharing. For example, in part (a) a
candidate used appropriate economic terminology and explained the various
forms of privatization like: Liberalization/deregulation, followed by Partial
/joint venture, Cost sharing, contracting out and Leasing. Most of the
candidates examined adequately how Tanzania benefits from the privatization
policy in part (b). A sample of a good response is shown in extract 5.1
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Extract 5.1
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Extract 5.1 shows a sample of a response from a script of a candidate who
managed to explain forms of privatization.

The candidates who scored from 7 to 11.5 marks lacked good mastery of the
subject matter and as a result they were unable to meet the demands of the
question. In part (a), the candidates explained inadequately the forms of
privatization. In part (b), some of the candidates were able to examine some few
successes of privatization out of five required points.
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On the other hand, the candidates who did not perform well in this question
failed to understand the question. In part (a), some of the candidates explained
incorrect forms of privatization and others explained few points which are
correct. For example, one of the candidates explained the points like sole
proprietorship privatization, partnership privatization, local privatization and
organized privatization which are not part of the question. In part (b), most of
the candidates failed to examine the successes of the privatization policy in
Tanzania, while others examined the points which are not part of the demand of
the question. For example, one of the candidates examined the following points:
promote and provide administrative social skills, help implementation of trade
liberalization, maintain social and political stability and economic incentives
instead of the successes of the privatization policy in Tanzania. Extract 5.2
illustrates the poor response in this question.
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Extract 5.2
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Extract 5.2 illustrates one of the incorrect response from the candidate who used
the concept of the commerce subject such as sole proprietorship privatization
and partnership privatization in economics as a form of privatization.

2.1.6 Question 6: Theories of Demand and Supply.

This question had two parts (a) and (b). In part (a), the candidates were required
to describe five factors other than price which affect the supply of the
commodity to change. In part (b), the candidates were required to analyze and
provide five aspects of the importance of the concept of price elasticity of
demand in the economy.

The question was attempted by 53.7 percent, out of which 44.6 percent scored
from 12 to 20 marks, 31.4 percent scored from 7 to 11.5 marks, and 24.0 percent
scored 0 to 6.5 out of the 20 allotted marks. Generally, the performance in this
question was good. Figure 6 shows the distribution of the candidates' scores.
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Figure 6: Candidates' Performance in Question 6.

Most of the candidates who performed well in this question were able to apply
learned concepts to the existing situation. For example in part (a), the candidates
were able to provide correct responses demanded by describing the factors other
than price which affect the supply of the commodity, such as change in
technology, change in price of alternative goods, political stability and number
of producers. In part (b), majority of the candidates were able to analyze the
importance of the concept of price elasticity of demand. For example, one
candidate managed to analyse the importance of price elasticity such as:
monopolist as used in price discrimination, price setting and wage
determination, in devaluation policy and in taxation policy respectively. Extract
6.1 shows a sample of a candidate who responded well in this question.
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Extract 6.1
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Extract 6.1 shows one of the good responses from a candidate who was able to
describe factors other than price which affect the supply of the commodity.

The candidates who scored from 7 to 11.5 marks were able to describe less than
the required factors other than price which affect the supply of a commodity
while others failed to defend their points with correct explanations in part (a).
The candidates analyzed insufficiently the importance of the concept of price

elasticity of demand in the economy in part (b).
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However, the candidates who did not perform well in this question failed to
describe the factors other than price which affect the supply of a commodity in
part (@) and unable to correctly analyze the importance of the concept of price
elasticity of demand in the economy in part (b). For example, one candidate
misinterpreted the factors other than price which affected supply to change with
the concept of elasticity of supply. The candidate mentioned correct factors like
costs of production, technology, number of firms, Peace and security and
technology but used the concept of degree of elasticity of supply to describe
them, while in part (b), the candidate wrote five points out of which two; price
elasticity of demand helps to control price, help the business man to charge low
price were a repetition and three points, elasticity of demand helps in
devaluation, help monopoly to determine price and is helpful in wage
determination were correct. Consequently, the candidate scored low marks.
Extract 6.2 shows sample of a candidate who failed to defend the points with
valid explanation.
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Extract 6.2
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Extract 6.1 shows one of the poor responses from a candidate who misinterpreted
the concept of factors for change in supply with elasticity of supply. The candidate
wrote the correct points about factors which make supply to change but the
explanation was mixed with the concept of elasticity of supply in part (a). The
candidate also made repetition of the points when analyzing the importance of
price elasticity of demand in the economy.
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2.1.7 Question 7. Market.

This question had two parts (a) and (b). In part (a) the candidates were required
to outline five functions of a market, while in part (b) the candidates were
required to examine five factors that influence the extent of the market.

This question was attempted by 86.6 percent of the candidates, out of which 34
percent scored from 12 to 20 marks, 40.5 percent scored from 7 to 11.5 marks,
and 25.5 percent from 0 to 6.5 out of the 20 allotted marks. Generally, the
performance in this question was good. Figure 7 shows the distribution of the
candidates’ scores.

100 -
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5 60
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s 40 - 34.0
%‘J 255
&

0
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Figure 7: Candidates' Performance in Question 7.

The candidates who scored from 12 to 20 marks were able to answer both parts
of the question correctly. In part (a) for example, most of the candidates
outlined the functions of a market such as: to facilitate transactions, source of
supply, contact between buyers and sellers. Moreover, they were able to
examine the factors that influence the extent of the market in part (b). A sample
of a good response is shown in extract 7.1.
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Extract 7.1
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Extract 7.1 shows one of the good responses from a candidate who was able to
outline functions of a market as to facilitate transactions, source of supply and
contact between buyers and sellers. The candidate was also able to examine
factors that influence the extent of the market as extent of the demand and
supply, Peace and security, Infrastructure.
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The candidates who had average performance gave insufficient explanation in
both parts of the question. This implies that they lacked knowledge in the
subject matter. In part (a) for example, one candidate outlined the functions of
the market as: Establishment of friendship between countries and Price
fluctuations which were wrong. In part (b), the candidates were unable to give
sufficient examination of factors that influence the extent of the market. Some
provided few points while others provided incorrect responses.

However, the candidates who scored from 0 to 6.5 marks failed to outline the
functions of a market and also failed to examine factors which influence the
extent of the market. This is an indication that they were not knowledgeable
with that topic and failed to address the demands of the question. In part (a) for
example, one candidate outlined incorrect functions of a market such as:
conduct research, allocate resources, check economic stability of the country
and create or make planning all of which were not part of the demand of the
question. In part (b), some of the candidates misconceived the demand of the
question by examining essentials of a market like: presence of buyers and
sellers, presence of well-defined commodity, area of origin and medium of
exchange while others were able to provide the factors which influence the
extent of the market although they could not give the required explanation. A
sample of a poor response is shown in extract 7.2.
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Extract 7.2
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Extract 7.2 shows one of the poor responses from the candidate who examined
the essentials of a market instead of the functions of a market.
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2.1.8

Question 8: Population

This question had two parts (a) and (b). In part (a) the candidates were required
to account for economic advantages of the increase in population of a particular
country by giving five points. While in part (b), the candidates were required to
discuss five problems of high birth rates for a developing country like
Tanzania.

The question was attempted by 82.6 percent of the candidates out of which
58.6 percent scored from 12 to 19 marks, 36.9 percent scored from 7 to 11.5
marks and 4.5 percent scored from 0 to 6.5 out of the 20 allotted marks.
Generally, the performance in this question was good. Figure 8 shows the
distribution of the candidates' scores.

Scores

m0-6.5
O7-11.5
mi12-19

Figure 8: Candidates' Performance in Question 8

The candidates, who performed well in this question, were able to explain the
economic significance of the population increase such as increase in national
income, increase in demand for goods and services in the economy, more
production, mobility and flexibility of the labour and national prestige. They
also provided relevant examples to substantiate their points in part (a).
Moreover, they were able to discuss the problems of high birth rate by giving
points like: high dependency ratio, unemployment, social evils and low living
standard of the people in part (b). Extract 8.1 is a sample of a good response.
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Extract 8.1
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Extract 8.1 shows one of the good responses from a candidate who was able
to account for economic advantages of the increase in the population of a
particular country in part (a) and also able to discuss problems of high birth
rate to a developing country in part (b).
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Candidates who performed averagely were unable to meet the full demand of
the question. They partially answered the question in both parts. For example,
one candidate accounted for a few advantages out of the five required and in
addition he/she did not give sufficient explanation in part (a). In part (b),
some of the candidates discussed only a few out of five required points.

On the other hand, the candidates with poor performance in this question
failed to account for economic advantages of the increase in the population of
a particular country. Some of the candidates explained the effects of increase
in population without showing how those effects were advantageous to the
economy while others were unable even to mention the advantages of
increase in population in part (a). In part (b), some of the candidates failed to
discuss the problems of high birth rate to a developing country like Tanzania.
For example, one candidate outlined three points such as decrease in national
income, intensive utilization of resources, and lack of investment. Extract 8.2
is a sample of a poor response.
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Extract 8.2
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Extract 8.2 shows one of the poor responses from a candidate who was unable to
account for economic advantages of the increase in the population of a particular
country in part (a). He/she also failed to explain the problems of high birth rate.
He/she provided wrong points like, decrease in national income, intensive utilization
of resources and lack of investment in part (b).
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2.2

2.2.1.

PAPER 2: 151/2 - ECONOMIC DEVELOPMENT

Question 1: National Income

This question had three parts (a), (b) and (c). In part (a), the candidates were
required to define National Income. In part (b), the candidates were required to
describe five determinants of the size of national income while in part (c)
candidates were required to explain four uses of the national income statistics.

This question was attempted by 73.7 percent of the candidates out of which
54.6 percent scored from 12 to 20 marks, 34.8 percent scored from 7 to 11.5
marks, and 10.6 percent scored from 0 to 6.5 out of the 20 allotted marks. The
data show that the performance in this question was good. Figure 1 shows the
distribution of the candidates’ scores.

Scores

mO-6.5
O7-11.5
m12-20

Figure 1: Candidates’ Performance in Question 1.

The candidates who scored from 12 to 20 marks managed to answer the
question properly. In part (a) for example, the candidates were able to define
the term National Income and highlighted the key concepts in the definition. In
part (b), the candidates demonstrated a good mastery of the subject matter since
they were able to describe the determinants of the size of national income such
as availability of: Natural resources, technology, infrastructure, human
resources and level of investment and in part (c), the candidates adequately
explained usefulness of National Income statistics. For example one candidate
provided the usefulness in the Planning process, in comparing standard of
living, in economic growth and how they are used to measure a contribution of
each sector in the economy. Extract 1.1 shows a good response in this question.
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Extract 1.1
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Extract 1.1 shows the sample of a response of a candidate who managed to
define national income and to describe the determinants of the size of the
national income.

The candidates who scored from 7 to 11.5 marks provided responses which
shows that, although they understand the question but they were not able to
meet its demand. In part (a), for example, one candidate was able to define
National Income. In part (b), the candidate gave a few descriptions some of
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which were right while others were wrong. In part (c), had insufficient
explanation on how national income statistics are useful to the Nation.

However, the candidates who scored from 0 to 6.5 marks were unable to give
correct definition of the term National Income. For example, one candidate
defined national income as the total of production which produced by the
country in the particular society at the given country. In part (b), they were
able to mention the few correct points. For example, one candidate provided
many points such as Employment opportunity, the economic resource,
economic dependence and economic equality in which only economic
resources was correct while the rest were wrong as the determinants of the size
of National Income. In part (c), some candidates failed to explain the proper
uses of National Income statistics. For example, one candidate pointed out:
National income statistics is used to balance of budget, it is used in government
manufacturing or expenditure, it is used to pay the employed people and it is
also used to provide the social services. A sample of poor responses is shown
in Extract 2.1.

Extract 1.2
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Extract 1.2 shows a response of the candidate who had inadequate knowledge
of national income thus failed to define national income and to explain the
determinants of the size of the national income.
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2.2.2. Question 2: Public Finance

This question had three parts (a), (b) and (c). Candidates were required to: (a)
give the meaning of VAT, (b) explain four advantages and six disadvantages of
VAT and (c), substantiate the contention that “tax incidence does not always
fall on the consumer” by giving four points.

The question was attempted by 26.2 percent of the candidates out of which
52.2 percent scored from 0 to 6.5 marks, 44.3 percent scored from 7 to 11.5 and
3.5 percent scored from 12 to 16 out of the 20 allotted marks. Generally, the
question was averagely performed. Figure 2 shows the distribution of the
candidates’ scores.
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443
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Figure 2: Candidates’ Performance in Question 2.

Few (3.5%) of the candidates who scored from 12 to 16 marks in this question
were able to define VAT in part (a), and adequately explained the advantages
and disadvantages of VAT in part (b) and also were able to substantiate that tax
incidence does not always fall to the consumer in part (c). A sample of a good
response is shown in Extract 2.1.
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Extract 2.1

"Ry Valury udde Fex 1o an  indiredt tax Wpidh recic)

ed ongoods anrcl eompmy  ancd # ompwiny me ene e

{ : g g
Luade tp Py e value od cle d fewx 5 nd i P at d dhin
1 v

tne onsume  goads in Ne ewnomy -
{

2\b), Value Udd‘"—' h.\)(‘ is an indived fox ubich rew elsd

En uu:lla Cm(.l goraue) ¥ H' o pu(C‘ Ldn_cn cne (Chyuwmes c;ut'ch

and Sty , anel 00 oac ks wa abilily o wvode valu 2 add

_Q_C\ +U)( -.l)o(‘clLuP ;+n|3 Tn C)CCL(J u‘,'l’uumitl 'ay A pevicn: ’(Lnr( Ure
f

d]ﬁeren\“ advintay s and b advuntags Ty Value acfé{ﬂ\?(

T : r
(\/47) wy pollows = By dbering W({, aduantagaeg

+ [’lctil wide tox bawe, Valus added fox e

St i evey g
wido tex bwe boeuvse 1 T pwd }a_») epy pefon in e
T T

CLoNOmM Yy Iven youny  (hildren which i Tnreoie s mubh

Ny O]Ove(hrvuzn"“ riven g e foy  boccwse it 4 neot segrek

e o puy_ov yowl Lurn (loined For ) -

H’ (S c(nh‘—i. u,»” o auade $ 1 Ualun udd QC' k\)( peo‘?l&

LCU(CQ not avade pc.wmc, Feex  bocovst iy aevealod Cn

qeocb £t Whep Cru Loniwme 9 cocl puy hﬂ-@ fax e his

LLJZ b 1 nirea in r,ummen* repenue ot C‘”FNPLP puys LeX

Tax payer does nar feel No burdeo O puying  The

tox, in hiL inch o4 tax h.l tax payer dces pot ’ﬁ'ﬂl Ne

Euvden C}» pc\q)nv) 4—5\,& dar-ecH_) Jogcuu.u N fewx qu lg.q.en

dnc‘rc,gcl or  4o0d .

7/ < ‘ . v B .\
H apable govesment D ocvn Mo reven his i

beccawe «ll peop] 1 Ne etnomy  pays dex . valus adc‘f)c'

tox Ubich C«H \U Fox 11004 to qo\,mnmm?‘ N's; n'vn;uc)h Vaiu\codlﬁc’

-'lmx g Oveiment gfarn More PPNnuP A0 hhoe o ﬂmz acluanta

t
G op Value addec] dex | and Mere ure digerens  disaduentd
Gou op value adeleed  fox on *-C;HOWH'
T

59



Jde

l“?‘ iﬂddOﬂ@ re rPirJ to Mo .buvden C4- payincf, 4‘0\)0

Uho acually poys The fux . inwoeop dived Fox e incidenty

Ot puuing ter () direcHy & e income ewroer but i cade oy

md',«pc’r’ /'}m)( o nddenwe difrer awcerding o Ny Rind 0f

Goods  ay  oncume arel prdue w yollens”

9 loals ol peepey ?nplatht domand, in his

ki el Of goods b inddene o fox et Hoes diredtly fo

LONSume ¢ {q_ Mbat commodity J:»aau,ue n_o Wnsumir _may demg

nd The sume Gt any level o Epnce, £0 the buyden c%fmn
Goes o woyumar

@7 D
=
g
! 1 B
@j. dluc:nHly

Uopds with pgﬂ-er,l- 2leshu demand; in Jhis

Iincl C;. D,og,l.n Ne inudenw Ot foax qoaﬂ ) pmduc;zr

J:;(:cuuuo nM C,och are clemandec lm,&n-lé }l:naz remeihs

th {ome na’r'u pnu w onifupt ot Lbhut ower @uanﬁly',

oD mud(mcn,qom o pmduu?r

Qﬁ@

Extract 2.1 shows the response from a candidate who managed to define VAT
in part (a), and explain the advantages and disadvantages of VAT in part (b).
Moreover, he/she also was able to substantiate the impact of tax incidence in

part (c).

The candidates who scored from 7 to 11.5 marks were able to define VAT in
part (a), while in part (b), some of the candidates insufficiently explained
some disadvantages and advantages of VAT while others in part (c), failed to
show how tax incidence does not always fall on the consumer. For example,
one candidate provided wrong points such as: under inelastic goods tax

incidence goes to the producer. This indicates that candidates lacked

sufficient knowledge in that particular topic.
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On the other hand, the candidates who performed poorly lacked knowledge
of the subject matter and were unable to understand the demand of the
question. In part (a), for example, one candidate defined VAT as tax obtained
after collection of resources (goods) in the country. In part (b), some
candidates were unable to explain advantages and disadvantages of VAT.
Others mentioned a few advantages and disadvantages but failed to explain
the points. In part (c), some candidates totally failed to substantiate the
statement that “tax incidence does not always fall on consumer”. For
example, one of the candidates explained that in case of perfectly elastic and
elastic demand tax incidence fall on the consumer. Also the candidate
wrongly explained that in case of inelastic demand tax incidence fall on both
producer and consumer. A sample of a poor response is shown in Extract 2.2.
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Extract 2.2 shows the poor response from one of the candidates who failed to
define VAT and was also unable to substantiate the impact of tax incidence.
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2.2.3. Question 3: Environmental Economics

This question had two main parts (a) and (b) whereby part (a) had two sub parts
(1) and (i1). In part (a) (i), candidates were required to define externalities and in
part (a) (ii), candidates were required to define transboundary externality while
in part (b), candidates were required to explain eight methods which can be
used in a country to control environmental pollution.

The question was attempted by 50.3 percent of the candidates out of which
31.7 percent scored from 12 to 19.5 marks, 56.8 percent scored from 7 to 11.5
and 11.5 percent scored from 0 to 6.5 out of the 20 allotted marks. Generally,
the performance in this question was good. Figure 3 shows the distribution of
the candidates’ scores.

Scores
m0-6.5

o7-115

m12-195

Figure 3: Candidates’ Performance in Question 3.

The candidates who scored from 12 to 19.5 marks were able to define the term
externalities and transboundary externality in part (a). They also managed to
provide methods employed to control environmental pollution such as: “to
impose pollution taxes, impose tradable emission standards, employment of a
technology and prohibition of pollute behaviors”. A sample of a good response
is shown in Extract 3.1.
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Extract 3.1

3‘%6\\ s E‘xkrnq‘l(‘)eJ are H’u lmq o a;mu Jugt=ind Laux

;c\per‘ruﬁ c: \\ ""\* qchoql o" [ PV’\)c{L«UJ oY (o")dm«u\f\

|0r lo H«\ §\>r ul’uJ"l no (ouv.{vszd\:n [J MuLL E\XM “l*‘uu

g(d\ \oc i oud\l& or n&ma*‘ﬂ/‘l qho( “J'\-Lq s re r‘cq}amcel 12

jnck\d‘( Rf QXqM‘\OL( i‘a\A\ehC Suual\t <h¢( ro\luﬁhof\«

W \v;nJL:ouncl<m ul—cf\m” }M redera b B louy

! J
Lol gsuns S kst o u h'\,u’ c»un’(\nu due B P

TN J
gc\c.)(\ow\d m(HJ-nI lcu. < D\Y“hc\( SV (uL\V\M F)F ZYngLL

;q\ \ol wcmlr\q a ffd\r\a Aﬁmcw] (ow’\?’« 1¢ uudqc’

L‘\Ju V\J\uw’h/) ‘I'2<h\ﬂ LN cLLLL!oP‘?o' countnes.

lo) Po“u\hun v the nbrdudon of mem)-w! \N«LJ)-mz&

on , undur of q\auua H’\A erx“q S = E.hvtr\\,nwu\n)*

NLth *\v 4“ ‘H’Hhad dmeu\ch.a man . ‘D\\«Jﬁol\ (SNA L>°

W focan o w<ber pcl V\hoﬂ \«\J m“u")un or _s\r r’-.Hq/m

[\'w\ h“owuvﬁu LA H"L MQH&AQ b\'\lrl’\ cany L':t lfmv:r‘){’""

conte] enuion pankl Fall hen 1n < coqr\}w,e
Prbwdum b m,[luc}\ar) oy o ‘ o? aalluhn.

T j(.av‘ﬂM—Ln" o coll ebgrshon vty M  Nwnd ond

alburesip | wciabey ohndd smdedel le  Hhe nmnuR

T(OMLO(L Glyarene vy o) “/\L \I(OLL LPF@.’\J of {Do” j\“)

‘i\» b 1l o sy b ubmulede  e2ncimnmen k= |

Lut\;{f‘ug{'\ n \'ﬁ L) J‘u LN l"HLN] TLI(J Cs¥) LD(’ oluu ‘I"L]"\)Lwif\

W e ) C\V\hmbl \«}\»n- C\m‘o«nSV\A S \!d\\o (\L-(L:;T'Q '

¢ c\t«c«\w J*\uhn%:x

Formu' \\>n C,m! |Mp‘{mnluhon r\} J""? + ’cw‘

\(‘\Y\ # "-\\A\i CoN v g mumnwumk\ ob“ }\V) Ul’mh‘cl }

9 . |
ALrL"}\‘V‘Mr] <ﬂo‘ \Vk}olemﬂm' IVMLch(V‘(j h’\k PV\,L’NL\H’\ |

64



iy L?) ¥ Cx()\mlﬂ\"{(‘(h(\u 0¥ x\@é.vu iOuhl-JL\VVL&V))Id 41'4 \|’~m<|‘)\}ed

N | ; ~—
mno\t chu\) %\3 ]b'ioo\ﬁ be\'\o \L)PE<\<— uuulq \4»\-\1 gd_<sn Cmrvr:o\z

fo B wciehy:
J

Pf\)mok e ng]lﬂea O‘P e TG T"\L a i ) MR
%
Ce H\np;’\nﬁ H‘U\ w<.u_1 OP N%J‘-L AN ip()\j") JO  ay +\)

rco\t«ct \oqu oy mc pquT\a"l Lq rttuctlflq of-

lN(\dl-fu LA\'\I(L\ e l ‘L(' oN '}Y%V\\I\ﬁ)(“m;\(:( lrﬁi OH’LL"\

uJef‘M\ ok We A\J lecu\l *\ﬂa LN P'U M&mu/"w for emerlL

.
r“\“(nh\,{lkl(lf\:j AF’ \ﬂJﬁ( lo FF!'IJ ﬁr\CJ U-).ql M\J’Cﬂi\d }
Tmmmuvmml 1A ‘LLJ"I”Q Oqua . T"\L qubp\mwn}—

{
\{\’\ouicl QN O r<%< l‘Lu uJe ol f'\M V“D\’\V\m\b’\\ia &V\tndl

lrtc—\'\\r\doau {n mAuwiWeq q‘*r\cj &"uf“ hclold yY Sy J’\)

ceduce ppllubhen  &e excm.au Ho gt of "\ Jm»elcd\ng

Powkf‘ L ches ol Op {\\)Jul‘ 'FM,Q' th (L»Cl\l 1N mﬂﬂl"t(/l

H’\x e hinpd 1A (Rd e bity

Eﬂcuumue. Ot Fcrf\qlf\cf. < T\'\ld IJ A dsﬁl

Iw.H\oot GP %rmmg 1:)uglf\ hy e (fC\QV\I(» LL'”\L\(!"LN \”CL

. N|
¢y oluﬂﬂ Hadd Jd\: ol loasl 4 Po“qi\m Thsuwrnww¥

\(L\umlol Dll\lL()lArer )ﬂ()vflcnl( ‘{:Kf‘fvuf\ol Imh((l'] e L’\(\FM&'

~J &)
\r\‘ou’ru \lh wctr‘}\}lurq C\V\di \H‘C)V"tl,i mcuﬁ'cwol»(d Hﬂs"
PDHU\‘LL all” cv\cj l<r\cl & MH ad w<“1F \ooé/,(L'\J ﬂ&‘”

-

oM DT

Broteay wiuhum TL\;\ qowtnprynt ccn go‘nM\

rt—“ bhan by ﬁxm(/n ‘xMi\w\JoF b o ybent oF

po] *\\m H’\\\) SNA mcfuuhu { B e“ome(‘ ‘}\)Muui A’Y\u

\(\Au\\nw *’\’\ b ?o (uku Hu N YN f\/\,u’]L ‘ocu‘mo‘ h"(

Cnb\esr; £ xed T Sou_ff\\fvuﬂ)‘ L ‘m_u%_

J .
qu 0C on, Ll'uf OL\(c\jQJY\M’\ Aad H’Lﬂml&d L’Cj HW

vuuvtfnvmf\Jr T\'\N i mmJ L\)LU"L rab“uf\en J quViKL:l.(\‘

\YlﬂL:u:cllad Jo UJ\ 3) ¢ A Luun)h/u ce N C“”M} pu“\(fb’)

J
L\Al ?mwwwﬂ os~ uulfa\ucllod lOVl 'H\i mu&f‘nW"\f '}“ H"L

Fmo\»(&fu ulma Lande ‘ow ;oo“uhm oc donek \fullqk

65



3 lo) le\L (vw((bnwuu”[*‘ r\_\'\w ne H'\u(\] LNtlurecg, ey Pmcluu/u
to ALDkCL J%“\dwﬂ lo Lﬂf{j Muqny 1N ‘*’uxr %owc(ut*bﬂ
C\C'l'\‘/lh‘iu
'MPL\HY\Q L\(ﬁb l'<x oN IHC(LA'J}T'W;: -hk] ceu e,
jbo.\l i\oﬂ ‘“’\4 frod\fni"\& N t‘ cgn_ u,")*WL \(«ﬂoﬂ ()
l"'\x tuuﬁM Lgu\ (MboyinNu & \f\'a\ﬂ 5’"4)( on ]fl’\k mcl«(\,hq,
=) 1 <)
P‘\f\ Caua J nu\luhog CJ\J w X qudq ‘\W\bv\h” (N

?N\N\th\c. c_nummvu.njr Loﬂd*l’lra,}\qﬂ- ‘L\()LJQIJ_‘ Oﬂgbur<C3~

PNC{MOUJ J“° Mniny 20 ?Duuhsn S f’vuob\'j&f ad
QOLH\QLL‘

LL'V\LL-(\LI‘{Lﬂ Po\ l\on s m'—ﬂ'i\uk (‘_xkfnxllN
anel s lr\o\tuhr oL (ow € Nt c C)xt»(‘o@r“\»my ’M‘
N 4 th.L"LW_; T\\x Louﬂk\/q \r\nuuu R ALY t“LﬁH&rﬂjhk
M s J > C'\«r\oJol u}\m cC umM po“\ﬂ\w\ (mwi
| | e s N
LS\VEl \chl\wh/nlllq'h-bn \«4\'\ '{\mq of ey bH\Lr wWyveon Jdi
J = 7 N
&niﬂ-uu& 'JQQJ‘}TWN(QL& cL(»{'o%ONu’ll“

Extract 3.1 shows the sample of responses of one of the candidates who was
able to define the concepts of externalities and transboundary externality.

The candidates who scored from 7 to 11.5 marks lacked proper knowledge on
the economics concept in part (a)(i) and (ii). For example, some candidates
wrongly defined the term externalities and transboundary externality in part (a)
while others in part (b), mixed correct and incorrect points.

However, the candidates who scored from O to 6.5 marks had various
weaknesses in their responses. In part (a), they failed to define the concepts.
Some referred externalities to the effects of producer or consumer to another
producer or consumer while others referred to the effect of firm to another firm.
In part (b), some of the candidates mentioned few points on methods used to
control pollution and explained it insufficiently. Extract 3.2 shows a sample of
a poor response.
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Extract 3.2 presents a sample of one of the candidate’s poor responses. The
candidate provided incorrect responses in all parts of the question as
exemplified in part (a) where he/she failed to define the terms provided.

2.2.4. Question 4: Financial Institutions

This question had two main parts (a) and (b). Part (b) was subdivided into five
sub parts (i), (i), (iii), (iv) and (v). In part (a) candidates were required to give
five points to justify the statement that “Tanzanian foreign exchange system is
the liberalized foreign exchange regime”. In part (b), candidates were required
to describe roles played by the following types of Financial institutions: (i)
Central bank of Tanzania, (ii), commercial banks (iii), specialized banks, (iv),
savings banks, and (v), cooperative banks in Tanzania.

The question was attempted by 8.5 percent of the candidates out of which 93.5
percent scored from 0 to 6.5 marks, 6.3 percent scored from 7 to 11.5 marks
and 0.2 percent scored from 12 to 15 out of the 20 allotted marks. Generally,
the performance in this question was poor as 93.5 percent of the candidates
scored from O to 6.5 marks. Figure 4 shows the distribution of the candidates’

scores.
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Figure 4: Candidates’ Performance in Question 4.

Most of the candidates who attempted this question were unable to justify the
statement that “Tanzanian foreign exchange system is the liberalized foreign
exchange regime” in part (a). Moreover, they provided insufficient explanation
while describing the roles played by each type of financial institutions in
Tanzania in part (b).

Among the candidates who performed poorly in this question, misinterpreted
the demand of the question and others provided very few correct points. In part
(a) for example, one candidate provided wrong descriptions concerning trade
quota, trade tariffs, devaluation policy , total ban, and subsidization. The
candidate described trade barriers instead of justifying how Tanzania foreign
exchange system is liberalized. Another candidate misinterpreted the demand
of the question by pointing out that Tanzanian foreign exchange rate system
help in exchange of currency between countries, provide employment and
government revenue, help the government to get foreign currency and improve
the living standard of people. All those descriptions were not part of the
question.

In part (b) (i), (ii), (iii), (iv) and (v) most of the candidates failed to describe the
roles of the financial institutions in Tanzania. For example, some of them
confused the roles of the Central bank with Commercial banks. One of the
candidates argued that the Central bank provides saving account and credits to
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people while others provided incorrect roles of Commercial bank. For example,

one of

the candidates argued that do not open accounts to people and

commercial banks give pensions to people as roles of commercial banks.

Extract

4.1. present a sample of a poor response.

Extract 4.1
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Extract 4.1 the candidate failed to justify the statement that “Tanzanian
foreign exchange system is liberalized regime” by giving the points such as
trade quota, trade tariffs, devaluation policy, total ban, and subsidization. The
candidate described the points of trade barriers instead of justifying how
Tanzania foreign exchange system is liberalized. This candidate
misunderstood the question and was answering a different question.
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However, the candidates who performed fairly in this question showed partial
understanding of the subject matter in that particular topic. In part (a) for
example most of the candidates inadequately justified the statement that
“Tanzanian foreign exchange system is the liberalized foreign exchange
regime”. Others provided a few points out of the five required points.

In part (b) (i), (i), (iii), (iv) and (v) most of the candidates insufficiently
described the roles played by financial institutions in Tanzania. For example,
one of the candidates described correctly the roles of saving banks such as
accepting and keeping deposits from customers, advancing loans and advising
their customers. While others managed to describe the roles of other types of
financial institutions. A sample of a good response is shown in Extract 4.1.2

Extract 4.2
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Extract 4.1.2 shows a part of a response from a candidate who managed to
answer some parts of the question. For example she/he managed to describe
the roles of Central bank in part (b).

2.2.5. Question 5: Marketing and Distribution.

In this question candidates were required to discuss critically the contention
that “private crop buyers play a significant role in Tanzanian economy”, by
showing five advantages and five disadvantages of private crop buyers in
Tanzanian economy.
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The question was attempted by 62.2 percent of all candidates, out of which
32.7 percent scored from 12 to 20 marks, 42.6 percent scored from 7 to 11.5
marks and 24.7 percent scored from 0 to 6.5 out of the 20 allotted marks.
Generally, the performance in this question was good. Figure 5 shows the
distribution of the candidates’ scores.

Scores

m0-6.5
a7-11.5
@12 -20

Figure 5: Candidates’ Performance in Question 5.

The candidates who scored from 12 to 20 marks were able to discuss critically
the contention that “private crop buyers play a significant role in Tanzanian
economy”. They discussed critically advantages of private crop buyers in
Tanzanian economy such as: increase in competition in buying crops, reduce
bureaucracy, buy crops in cash, and reduced burden to the government of
providing subsidies. On the other hand, they were able to discuss critically the
disadvantages of private crop buyers like: farmers are convinced to sale their
products before the harvesting time. Extract 5.1 represent a sample of a good
response.

74



Extract 5.1

5 P”'VG}R Cf‘op Bugou‘ are_individuah wha purdf{qdo

agnaudture  poduct elitoct prom the  pecuanks, Thay
Al T 7

Rrgorm Nome o fhe workes of mackel ccoparadivas ducl

O @&Un\c}' d'r» geu];mdud, galj,-n\qr OJr: pfodud' and u}on'nq

o .
og procluchye 'Pr\'\so,ic CIDJQ gouo ved plmj G 9raneram
1 i) I N )
»

rob i'n H'\o. 7002cm1'q QCODOmj*L

-ZL\Q Fo(lqwl‘n?r are, actu cm}oqm\, CL pn‘uofc Crop
L O T T

Euéaru in EOcuon“ who mMalks, LQ(C\Q pof\(on} GFT(m'zgmq

QrohoMy:.

-“‘Gg provrc(g Incentivey t‘o Jl300;tan}~l- pn'va.b' Clop
lx«g)r rpmu\clo FQ(H\I’Z;LN onc{ Seodv l"o Hr\g poadanke iy
o\ ; 7%

‘Sup‘pov’r He poadsant (n the preduction o agricebuca bekindig, |

T T ) 1 N

honce cfauglcpm\c} Iqrn(,mq DO ey« Honcq pu‘uol‘ﬂ Crep

k,go(\l ﬂug actle 10 Tanxmia Roperny
Puivate clep bugois  Puichago in Cach bavest Th

jDQadCxﬁH‘\mlc H'w Crc'p l’bﬁp‘\'\;‘c\fﬂ h.lgom in (‘Q\A\’\ 'ﬂn\\

'DO‘VG.PQ" heemete H\; _Roauanty and foducee Tle hurden
op unpacel dephswhich the Ceoporg hies  dhratldorod Hao po sond.

HQDCQ Yooudt hl an l‘mptcuemnh} oL ffonlan*'qjgcmma‘ f

’”UZ\LJL increass production op agnaudture plocludn;,
'”w;x ﬁnmu\g}\ Qmun‘n& nubant mmard, ) for tho cops

ket P°0\*C‘°3" The pnvate Crop butor cronte  tamaotndian

75



€ on \ougmg Crops From ﬁml}podon% - Thra mobttuato
the poaten i« ke tncrecd e meduchon. Honce prvad e
cop buyecs voeult to Rcommic dovoloprmont of §

| Ccunhg‘l.

Dovate ¢rop ‘omjo, goducoy the bguroc:cm\(/,

—lLuz ma ket bBacdy hael bourccratres rosuiafl'oq whreh

%d«mcauragoc‘ the lppaqc:mh bt the pm)c_hz e p buﬁ'.‘,Q"

ocduce the boureeratic precegd te ta poavanhk bonc

;&ﬁ'mp?iﬁ:\)'ni\) a wark Fac te ppaqc(n%l

' Doclue the, bucdon o unpaicd dophs which the

E,COOQQ:QJ‘NN Shouddored  He Pm@uﬁ\*v‘ "Uf\gﬁpn\;cda crop
purchase  on caah bose (ubidh  raclye,  te pm(obm

bugons
] J

oL unngc\ &o\o} o 1l oo nhr doncs redu.lhng\’ te Be

ctauo_lo{unonf‘oF Ko ocoroma cf  laniamia-

The ﬁc[\bw,mg are He Cﬂlmctuanfagou SR pm‘uo.l‘ﬁ

Ccrc.? %om ke ‘}L\nzomq Ec;,nomz'

Povats crop \ou%o( have low Supper} t Hhe

(‘rafm\xh’uc,hﬂw Such ay mad; 5 Hig Povate cop

Eu_{:AJQF de ek centorbuts in fopacing Of roacls Fov bhe

o Hena recudtto

pootany Qu bow markd  boacdy

doctrre m 'DFDC‘-UQHO ne

Due b cempetabien fadthe law Quaity procluc

ﬁ;:rorw He P,Q(Ncmh . ‘('lzu; PH‘-V‘QLEQ clep bu_c%(ow Cloa te

__wmpetatien 0 Bu::)mg tho ceops prom the poguant Yhiv
makes  the poauantt by produce low: quality  precluch

_do ay to get past Mcney) - Honco vodulb to 2anemc elocl -

Rocduce the barqeauning _Powar of m¢0n+¢\7hg
J \) | PR

povabe trep buyoer woakeens tle bacgaining pewar

of p;;cuqn\ JTNCs Hao psza\loo) alono @an rnot Vnpluonc

the price o e precluct honae  thuv rdked  poavant

hs woll pf‘cdud n low prico honce mctfc,ng a Lo whidh

o)t bk He declire o Tanzanra  ocpem?

76




& In demo amay the povate buyors bhoy Woakin the market
bearde. Sommp op the rmadut booards  bave ban wakened
I%Lﬁ\L powec op puvate trop éu%gyw Ths etk ke

the dfzdrnocg bocecd ¢« arel  pyuate buus.  tond to domirate

hena ingluencing  price ab low leved »

Tha MocennG o £ private crop buyecs  can intluence prie
o] T T ! - y 1

Of Crops. 'Hr\g !On’\ch‘Q Cmp bu,%o\- mc% é'om Cmcf Corﬁ’m)
the procluct prce: The prvabe crop bugyecs tond to erplait
the peagaipts B:‘ &ﬁn!ng very low pog <o ae to get
ng(ur pro fit thid clwcopregyen He producers - Hong rouw [}
b He clocdine of tha eccromy.

[n cenclearon,  The frx‘uﬂf@. Crop ‘ou,xjom ave vey

tmpactant b the dovolopment of Tamania g canery beng

Hoou ahoudd e contrallod  through prica contiol  weaw
iy 2. P

by avevel orplovtedion of Pradani< bﬂ Povate crop

Iou.,l,ugru ’
-

Extract 5.1 Shows the response of the candidate who managed to discuss the
advantages and disadvantages of private crop buyers in Tanzanian economy.

Furthermore, the candidates who scored from 7 to 11.5 marks understood the
question but were unable to discuss the contention that “private crop buyers
play a significant role in Tanzanian economy”. Some candidates discussed a
few correct advantages. Others explained incorrect advantages. For example
one of the candidates incorrectly explained that private crop buyers provide
farmers with adequate storage facilities and they are unable to face stiff
competition from other crop buyers. On the other side some candidates
wrongly discussed some disadvantages. For example, one of the candidates
discussed the points such as market imperfection, geographical barriers,
differentiated products and ignorance of buyers which are the conditions for
price discrimination.

On the other hand, the candidates who performed poorly failed to discuss the

contention given. Some explained the advantages and disadvantages performed

by Cooperatives and Marketing Boards instead of private crop buyers. Others

interchanged the points. Those that were suitable for advantages were wrongly

used as response for disadvantages and points which were suitable for
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disadvantages were wrongly used as response for advantages. This indicates
that they were not knowledgeable in that particular topic. A sample of poor
candidate’s responses is shown in extract 5.2

Extract 5.2
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Extract 5.2 presents a sample of one of the candidate’s poor responses. The
candidate explained some of the requirements possessed by the private crop
buyers and the methods used in order to maximize profit instead of the
advantages and disadvantages of private crop buyers in Tanzanian economy.

Question 6: The structure of Tanzanian Economy.

In this question candidates were required on one part to give six arguments to
support the statement that “prices of agricultural products fluctuate more than
the prices of the manufactured goods” and on the other part, candidates were
required to provide four measures which can be taken to arrest the situation.

The question was attempted by 58.7 percent of all the candidates out of which
6.4 percent scored from 12 to 18 marks, 47.9 percent scored from 7 to 11.5
marks and 45.7 percent scored from 0 to 6.5 out of the 20 allotted marks.
Generally, the performance in this question was average. Figure 6 shows the
distribution of the candidates’ scores.
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Figure 6: Candidates’ Performance in Question 6.

The candidates who scored from 12 to 18 marks were able to understand the
demand of the question which indicates that the candidates had good
knowledge of the subject matter of the topic. Most of the candidates managed
to explain the factors which cause fluctuations in the prices of agricultural
products such as: climatic and natural conditions, price elasticity of supply is
inelastic for agricultural products, price elasticity of demand for food is
inelastic and weak bargaining power and could manage to provide tentative
solutions to those problems. Extract 6.1 shows a sample of a good response.
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Extract 6.1
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Extract 6.1 shows a sample of a response from a candidate who was able to
give arguments to support the statement “prices of agricultural products
fluctuate more than the prices of manufactured goods. Thus, he/she had
adequate knowledge on the tested topic.

The candidates who scored from 7 to 11.5 marks were able to give arguments
to support the statement that (“prices of agricultural products fluctuate more
than the prices of the manufactured goods™). The candidates provided adequate
factors concerning fluctuations of prices of agricultural products. On the other
hand, the candidates provided insufficient explanation on the measures which
can be taken to arrest the situation. Out of the required measures they explained
only a few. For example, one candidate insufficiently explained how gestation
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period and improvement in storage facilities can be used to stabilize price of
agricultural products.

However, candidates who performed poorly were not able to give sufficient
arguments to support the statement given. They were also not able to provide
valid measures which can be used to arrest the situation. For instance, instead
of explaining the factors which cause fluctuations in the price of agricultural
products one candidate explained the factors affecting agriculture like level of
technology, consumption level, and investment level while other candidates
provided incorrect measures which can be used to stabilize the prices of
agricultural products like establishment of laws and policies and imposition of
low tax. A sample of a poor response is shown in Extract 6.2.
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Extract 6.2
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In Extract 6.2 the candidate failed to give arguments to support the statement
that “prices of agricultural products fluctuate more than the prices of
manufactured goods”. He/she provided the factors affecting agriculture instead
of the factors which cause fluctuations in the price of agricultural
products. Also was unable to provide the tentative solution to solve the
problem.

2.2.7. Question 7: Economic Integration and Cooperation.

This question had two parts (a) and (b). In part (a), candidates were required to
examine five problems facing the new East Africa Community. In part (b)
candidates were required to device any five tentative measures which are likely
to solve the problems facing the new East Africa Community.
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The question was attempted by 67.0 percent of all the candidates out of which
26.9 scored from 12 to 19 marks, 53 percent scored from 7 to 11.5 marks and
20.1 percent scored from 0 to 6.5 out of the 20 allotted marks. Generally, the
performance in this question was good. Figure 7 shows the distribution of the
candidates’ scores.

Scores
m0-6.5
a7-11.5
mi2-19

Figure 7: Candidates’ Performance in Question 7.

The candidates who scored from 12 to 19 marks were able to examine
problems and devised measures to solve the problems facing the new East
Africa Community. In part (a) for example, the candidates examined the
required number of problems like differences in the level of development, lack
of commitment, poor transport and communication system and lack of common
currency. In part (b), the candidates devised and explained how establishment
of common currency, construction of roads and communication networks,
security between individual member states can be used to solve the problems
facing the new East Africa Community. Extract 7.1 shows a sample of a good
response.
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Extract 7.1 shows a sample of responses from a candidate who was able to
examine the problems facing the East Africa Community, by providing relevant
points in part (a) of the question. Also was able to device tentative measures to
solve the problems in part (b).

The candidates who scored from 7 to 11.5 had partial understanding of the
subject matter in the topic as a result, they were only able to examine a few
problems and measures. In part (a), for example one candidate examined five
problems out of which two concerning differences in currency and poor
infrastructure were well examined but the points concerning shortage of
marketing, loss of revenues and un employment opportunities were incorrect. In
part (b), some of the candidates failed to give sufficient measures to solve
problems facing the new East Africa Community. For example a candidate
explained five measures out of which three points like to improve and develop
infrastructure, introduce common currency and maintain the level of economic
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development were insufficiently explained while the other two measures about
improvement of marketing facilities and having enough capital were irrelevant.

However, candidates who had poor performance were unable to examine and
device tentative measures to solve the problem facing the new East Africa
Community. In addition some candidates used wrong approaches in answering
the question. In part (a), for example one candidate just listed some points and
partially explained only one about dependency but was unable to give correct
examination on the rest. In part (b), the candidate ended up by mentioning a
few solutions like unit and cooperation, formation of policies but completely
failed to explain how each could be used to solve the problem facing the new
East Africa Community. A sample of poor responses is shown in extract 7.2.

Extract 7.2
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Extract 7.2 shows a response from a candidate who listed some points and
partially explained only one point about dependency but was completely
unable to examine on the rest in part (a). The candidate failed to give
tentative measures to solve the problems in part (b).

2.2.8. Question 8: Economic Growth and Development

This question had three parts (a), (b) and (c). In part (a), candidates were
required to explain economic development. In part (b), to asses four
determinants of economic growth while in part (c) candidates were required to
evaluate five indicators of a developing country.

The question was attempted by 81.3 percent of the candidates, out of which
39.7 percent scored 12 to 20 marks, 40.9 percent scored from 7 to 11.5 marks
and 19.4 percent scored from 0 to 6.5 out of the 20 allotted marks. Generally,
the performance in this question was good. Figure 8 shows the distribution of
the candidates’ scores.
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Figure 8: Candidates’ Performance in Question 8.

The candidates who had good performance in this question were able to
understand the demand of the question and provided adequate responses. In
part (a) for example, most of the candidates explained adequately the meaning
of economic development and also managed to assess the determinants of
economic growth in part (b) such as availability of: natural resources, capital
stocks, skilled and unskilled manpower, internal and external market and
political stability. And in part (c) the candidates were able to evaluate
indicators of a developing country like: low per capita income, low level of
technology, poor development of infrastructure and low life expectancy. A
sample of good responses is attached in extract 8.1.

91



Extract 8.1

IF L) e T . - - . L
‘M-.— ' ; | f n""' II
, i

fuﬂrf (il

ol mm!n 1o

t‘m?m Imﬂ- oy Wh—qlﬂﬂh}-ﬂ-hﬂ—mww

0 JWMMMMWM.
_MMM_MMJMMLM_:

92



2 b crepora dmatb colesi b fhe gosenhign. e ot di
) : | : .

-

or o .,;.,.-L-;Fm.-m'gi g ewm;m;: O o Couring = NG L

\ e
Aroccdhs 10 G o Orsnagd puno v TE LGN be ricmen L"""A w2k

AP L 102y ualdhil and Eﬁ\.m;r‘mzniu[, d%mduk'r.w sinel

r
|

r . . | y ; N
ka4 gpncaguiec) by inaeade Cpnart chomeihe .Iamciuc}. C

o) :mn‘mi e el s anwibnent ” Zegnoome ijwu.'th L2

lskeromarert Dy ey rhm»w igtian s

Lhcie L.l rc..;}uul :Exjt oons . L d by i !"ruﬂ'r_e Jede O

4 n. Y .
fﬂ!‘.‘mi:i[ (hai then i Irmar uthen of j.-;r,m CLn gl Jenicar pn

fch o rwh:'zﬁu.r (nadbng  saaul wnoece 'Thu.} (¢ Pﬂ'r\i‘ilk :

a0 -rcwmas Thp mvff jwum_

“
Couanbey alic mmu«.:r livus £ eaneomal dmih an 0 Ln:

Lﬂ) buat  toail (hack G:Il fUPLE{i‘.L' 2 ST L | J.mn.h £ toneeme
Anoth .7

J

4

< P W . . ‘ ;
el e toll (uipf.m,nj‘ Ay pplet ©F mprol gienre

arg  wurlve  Enernfeiugs o 2riurOwcous udnoifel  ehnich.

Y bheg 1ovelue  themieluei 1 Dw«f:.;d-tm uncd (;ﬁmm“\ﬂ

r

oo “rawn bufweiq an the wwﬂru loads & "J"\LHLUE

I by

f
il r'n_.r,..u{“'u fa) ri.."\il d‘:ur FAlme

Thug  plpnermg r’ilﬂ:n.i."i-h

I! Clinryt thabd .-_Lm‘r A f'f-_aﬂ.hu{ tadven 2 polin m.'uj dhetble
7 : ]

A [ - =
uhn’i‘.(.lruf_il}.}' 'H*u: Wy Nyt anr\; Crechutery 20 G (_L-L,i.i‘-h’:f o pns

A and invest, Ty i ronbrbute o dhe angreie 18 the

ruinhiy !cj.‘rl,_‘, Dm.iuru:l w e r»"unh-a}' ummhtu.i.dr_l

-

i elotem r.:vuu}h ok F‘ulmch ansbaulang o s

¢ ceml r:‘iﬂm;ﬂ'\ Gi o1 J‘HLJM&HH -“-'i\b-zit'm.rnhmri uuj:‘l\}I

: & i : N : =
f e f'Jlf Danaretl el s " Cmanary obats 1y Neh

Ay Primgersy  PRcarcel KD Cigesl L1y [‘L"r o'-t'jr\.tui‘kuﬂ Lanet

p N 5
i Oy ppICTiES 'Lt.t II_-.‘arjr.].-J b imoece -H"b?

Ovecnitngn A Gdncalbir g ledoy c;-mr.L adie (oaurages
4 :

i N ® i N §
st ibunn ©f Iﬁwduu; UIT kI

!-me-..nrl b éloovomai Uwwib @f G wuﬂ"hfw_

93



)
o

o

i { . v . \ ok am e g
T g e W B Yal Ba u e SO € VI 3 O - o L trs G;‘:.La.j [ wckitbregikions
: r -

4

T Y o L TCT 3 ) A v 5 B =Y 'i.v:-\nrﬂch_i_ L chofermy i:- 43 ih‘t-‘-f‘vh?"
t

r
-

i H R . e i A
Zuvce Al (o hes .:'.Lr_Ji"‘-uugLQ Soor b {hwbie el e we (U

ningy RGPl M gevonbrig cond ewven i flherely

- i a 1 - JI . L
201 m-nﬂmram.} a'uwz.ym!}u.!:wr\r Tpaladalboe rl.-a.mLerw. wrd

- ) : s : = ¥ -
L{h'\nrndeci TRl WXL 4 A 1 [}m.gth f e T

-

_ net
Dmdri':wnci .’.-nmi-nj 21 fthe [P1%S ala¥ Eedd g f‘uﬂ.}f

AT L w GhS CHeaAl

. ] S ! ¥ “ o,
{orwia  euntn; or Ybard  quueid  rmanbay Socapmply o &
A *

C i ag  aoaby 11 Tendeoig, The il o b
f .

. H 1 i ' . P
crdlacahadTwl o lets r!'au.&.iﬂ{’a?d (Y O el pinio &Wbﬂf,-'
!

i

] . .
Lt Per Conbal s T e ipons P brecigl s

i T

i 3 -
r!um.ra]_;:rnnri fpantrel gy lemy (unde e nobooesd Trcoeme
]
1

clisaye 11 (enaller thon Yhe kol Oupsiahseo of people

1 t-lm'- MJnknj) Thaur e ﬁc.in'.fu.!_ dhed  dheee’s (e

ling  Cheandernl of pecpl 2 beal  oncesnal Yenelipe

[ D:J‘LU”FJ.'}«-‘[' we

-

=

f i . . i ' ¢ !
Ldﬂﬂ" Leael el ‘L-\’cjﬁqzlu~ch.l- : Unlake  Hv develeped |
Y = T

Coponit qubnedy bowe  bagh e €1 fecrnclogy Tine |

. . J 1 i - - -
ced i oy oty Lake an2eemg boce beew tedbhoctogs.

: - ‘- £ s [
col Ao ilomment o taacih legds  be cewisue o) qa-;nr.‘:u\m
1

.

a4 i o l'l‘-rrwtj‘n Lccfwm;uxa}r anrd e E“:“ﬁit"-ﬂ.ﬂ"ﬁ i

0oL - n . .- b -,
bebena v p Luim.:n_,i: e faied !;ﬁmu LJ{ b2 ﬁ-:';'-'ﬂ-m‘u‘ ) t:f!‘
T i ) ; !

. R
fmn.aﬁ ;g{.nrtiuc.sr RN

\

Leaa, Lade f::.;‘.'rh-mcajﬁ Tiae (le2reigye paunber @f
" |

il
TR e B RN S FTe ] Y ol 1‘{1:-3..' gla :_J.rlu‘iu (2 2afany 9y \7.'\;'_..!'“15 Lﬁf{l" tiz
K \

Ui 2 lowger esi & -rr[‘.rmr_l: b« e.L.-eiA:pF& fioantnes ol
r -
L - - \

nere ) i.'l‘u"r fi'“’m-”“"'ﬂ' ed E

1i arribeds camch cose  bHae E,ru?hy-r‘\ 91| _n:‘n.;‘[—e;-eﬁj; | FTF,

r

. 1 ] . . - ™~ .
ol dagegues  foads el el Gund  Ioveack of Hiy JAIDS -

The response in extract 8.1 shows that the candidate had adequate knowledge
on the topic of economic growth and development as he/she managed to:
explain the meaning of economic development in part (a), assessed the

determinants of economic growth in part (b) and evaluated indicators of a
developing country in part (c).
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The candidates who performed averagely in this question were able to define
the concept in part (a), and in part (b), some of the candidates were able to
assess a few among the required determinants and in part (c), some of the
candidates were unable to evaluate the indicators of a developing country
while others provided the indicators of a developed country instead of
explaining indicators of a developing country.

However, the candidates who had poor performance failed to meet the
demands of the question. In part (a), some of the candidates failed to define
economic development. For example, one candidate defined economic
development as: the situation when the economic activities are growing up
providing examples such as agricultural activities, mining activities etc.
Others were unable to identify and assess the determinants of economic
growth because they rather provided indicators of economic growth. For
example one candidate provided the points such as: increase in income of the
people, increase in production and increase in employment opportunities
which are indicators of economic growth. A sample of poor responses is
shown in extract 8.2.
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Extract 8.2
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Extract 8.2 shows the poor responses from a candidate who failed to define
economic development in part (a), assess determinants of economic growth
in part (b) and in part (c) the candidate provided indicators of a developed
country instead of the indicators of a developing country.

2.2.9. Question 9: Economic Planning

In this question the candidates were required to provide five arguments to
justify the statement that “planning is a powerful instrument in maintaining
economic stability in a country”.

The question was attempted by 58.8 percent of all the candidates, out of which
24.3 percent scored from 12 to 18 marks, 49 percent scored from 7 to 11.5
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marks and 26.7 percent scored from 0 to 6.5 out of the 20 allotted marks.
Generally the performance in this question was good. Figure 9 shows the
distribution of the candidates’ scores.
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Figure 9: Candidates’ Performance in Question 9.

The candidates who scored from 12 to 18 marks were able to answer the
question correctly. They provided the advantages of planning such as: planning
enables equitable distribution of national income, government to control
population growth, government to prevent wasteful competition, government to
control terms of trade and government to make proper use of scarce resources.
Extract 9.1 shows a sample of the response of the candidate who scored high
marks.
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Extract 9.1
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Extract 9.1 shows a sample of a response from a candidate who justified the
statement that “planning is a powerful instrument in maintaining economic
stability in a country”. He/she was able to give the points which meet the
demands of the question.

The candidates who had average performance did not understand the demands
of the question. Some were able to give insufficient arguments in justifying the
statement. On the other hand, other candidates reproduced their points and
supported them with weak arguments. For example, one of the candidates
repeatedly explained that planning prevent misuse of resources, leads to best
use of resources and leads to proper allocation of resources.

The candidates who performed poorly were not able to understand the demands
of the question which led to failure to justify the statement. For example, one
candidate poorly defined the term planning as the set of economic goals to be
achieved instead of justifying how planning is a powerful instrument in
maintaining economic stability. Other candidates explained the effects of
planning. For example, one candidate argued that planning leads to political
stability and employment opportunity which was wrong and others failed to
provide relevant conclusions by writing that the above are the functions or the
importance of planning, a conclusion which didn’t reflect the demands of the
question. A sample of a poor response is attached in extract 9.2
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Extract 9.2
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Extract 9.2 shows a sample of a response from a candidate who failed to follow
the requirements of the question. He/she provided the effects of planning
instead of the advantages.

2.2.10. Question 10: International Trade

This question had two parts (a) and (b). In part (a), the candidates were
required to differentiate current account from capital account while in part (b),
the candidates were required to give seven reasons to show that international
trade is vital to the domestic economy.

The question was attempted by 12.0 percent of the candidates, out of which
17.5 percent scored from 12 to 18.5 marks, 51.8 percent scored from 7 to 11.5
marks and 30.7 percent scored from 0 to 6.5 out of the 20 allotted marks.
Generally, the performance in this question was good. Figure 10 shows the
distribution of the candidates’ scores.
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Figure 10: Candidates’ Performance in Question 10.

The candidates who scored from 12 to 18.5 marks were able to understand the
demands of the question. They were able to distinguish current account from
capital account in part (a) and show how international trade is vital to the
domestic economy that it enables a country to earn foreign currency, get those
goods it cannot produce and widen its market in part (b). Extract 10.1 is a
sample of a good response.
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Extract 10.1
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Extract 10.1 shows a response from a candidate who managed to distinguish
the term current account from capital account and provided the importance of
international trade to the domestic economy.

The candidates who had average performance were unable to distinguish

current account from capital account in part (a). In part (b), the candidates
provided insufficient explanation on the importance of international trade to the
domestic economy. For example, in part (a) one candidate defined current
account as a special account for high income earners and capital account as

the account which can be used by poor and rich people. In part (b), the
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candidates mentioned correct points about transfer of technology, increase in
production of goods, increase in government revenue and GNP but the
candidate failed to use them to show how international trade is vital to the
domestic economy.

However, there are some candidates who did not perform well. These
candidates failed to distinguish current account from capital account in part (a).
Also they failed to show the importance of international trade to the domestic
economy. For example, one of the candidates provided the reasons for
international trade instead of the importance of international trade to the
domestic economy and others provided incorrect responses which do not meet
the requirements of the question. Extract 10.2 shows the sample of a poor
response.
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Extract 10.2
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Extract 10.2 shows a response from a candidate who gave the reasons for
International trade instead of the importance of International trade in part (b).
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3.0 THE ANALYSIS OF PERFORMANCE PER TOPIC

The topic wise analysis of 2016 ACSEE in Economics subject shows that the
performance of the candidates was good as the candidates had good performance
in 15 topics out of 18 topics examined in paper 1 and 2. Topics with good
performance were: Theory of money (97.9%), Population (95.5%), Privatization
(89.9%), National Income (89.4%), Environmental Economics (88.5%), Theory of
the Firm (87.7%), Subject Matter of Economics (85.2%), Production (84.1%),
Economics Growth and Development (80.6%), Economic Integration and
Cooperation (79.9%), Theories of Demand and Supply (76.0%), Marketing and
Distribution (75.3%), Market (74.5%), Economic planning, (73.3%) and
International Trade (69.3%).

The good performance on the topics is attributed to the fact that, the candidates
understood the questions, they were able to identify tasks and had sufficient
knowledge on the subject matter of the particular topics.

The averagely performed topics were: Structure of Tanzanian Economy and
Public Finance as with 54.3 percent and 47.8 percent respectively. Average
performance was a result of misconception of some concepts and lack of mastery
of the subjects in different areas.

The performance in the topic of Financial Institutions was weak with an average
of 6.5 percent. The poor performance in this topic was attributed to wrong
interpretations of the requirements of the question and inadequate knowledge on
the topic. In order to improve the performance in this topic, teachers should be
encouraged to use guest-speakers, practical experiences such as banks, markets,
entrepreneurial skills in both industrial and agricultural sectors. Also they may use
national and international trade exhibitions such as Sabasaba and Nanenane which
are taking place in the country annually to facilitate the learning and teaching
process.

The performance of the candidates in the topics tested is summarized in the
attached Appendix.
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4.0 CONCLUSION AND RECOMMENDATIONS

4.1

CONCLUSION

The candidates’ performance was good. However comparative analysis of
candidates’ performance of ACSEE 2015, and 2016, shows a slight decline
in performance in ACSEE 2016 by 1.7 percent, though many candidates in
2016 ACSEE demonstrated mastery of the subject matter and ability to
identify the question tasks and the use of technical terms as reflected by
their responses.

4.2 RECOMMENDATIONS

In order to improve the candidates’ performance in future, it is
recommended that:

(a) School administrators should team up with subject teachers to facilitate
study tours, guest speakers as part of teaching and learning activities in
order to broaden students’ understanding and enable them to acquire
practical skills in different areas of the subject.

(b) Subject teachers should strive to equip themselves with learner centered
teaching and learning methods and also equip themselves with
knowledge on current economic issues, apply them in teaching and
learning of economics. This will build interest or motivate students in
the learning process.

(c) School administrators should ensure the availability and proper use of
internet facilities or online materials as an alternative source of teaching
and learning materials in the subject.
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Appendix
Analysis of Candidates’ performance in each topic

151 Economics

SN Topics No.of | % of the Remarks
questi | candidates who
ons scored the
average of 35 or
above.

16 Structure of the Tanzanian 1 54.3 Average
Economy
17 Public Finance 1 47.8 Average

109






